SB

Ey b= EAVY—FFy FOEFE

ARICEATE, RN - AR MEEB50BET/NT Y AILBN
A= Fy R TT,

JER

Ey b2 —k

FEEY

MEER Y (2)

o~
[

ERAE/EA - BEA
EETEAE / FAR] B

#

B/ &RE A7V LRTIVI)

ta CEIRRN / )IS2 #k

A — A=D1 ED2EME
. (B AL _ERTEEE &6 C)
B — A >U—FDI&E+ 005mm fiz
C = AY—FrLF+02mm BLE
BT ARFL 0.5mm LLE

M3x0.5 50 53 30

SB-305030
35 SB-305035

40 SB-305040
50 SB-305050

53 SB-3004

6.0 SB-305060

6.5 SB-3005
55 58 30 SB-305530

4.0 SB-305540
50 SB-305550
6.0 SB-305560

7.0 SB-3002
9.0 SB-3003
M4x0.7 55 58 30 SB-405530

40 SB-405540
50 SB-405550

58 SB-4005
6.0 SB-405560
7.0 SB-4002
8.0 SB-405580
9.0 SB-4001
6.0 6.3 50 5B-406050

6.0 SB-406060
8.0 SB-406080
12.0 SB-4006

6.5 6.8 50 S5B-406550
6.0 SB-406560
7.0 SB-406570

EPAL)
MUy F
M1.4x0.3 3.0 33 2.5 SB-1401
3.0 SB-143030
M1.6x0.35 3.0 33 40 SB-163040
M1.7x0.35 3.0 3.3 25 SB-173025
40 SB-173040
35 3.8 SB-173540
M2x0.4 3.0 33 20 SB-203020
25 SB-203025
3.0 SB-203030
33 SB-2001
35 SB-203035
40 SB-203040
45 SB-203045
55 SB-203055
6.0 SB-203060
8.0 SB-203080
35 3.8 3.0 SB-203530
40 SB-203540
40 43 3.0 SB-204030
50 SB-204050
6.0 SB-204060
7.0 SB-204070
M2.5x0.45 3 3.5 3.8 25 SB-253525
35 SB-253530
40 43 2.5 SB-254025
3.0 SB-254030
35 SB-254035
40 SB-254040
50 SB-2501
6.0 SB-254060
45 48 35 SB-254535
40 SB-254540
50 SB-254550
7.0 SB-2502
M3x0.5 45 48 20 SB-304520
3.0 SB-304530
40 SB-304540
48 SB-3006
50 SB-304550
6.0 SB-304560
7.0 SB-3001
8.0 SB-304580
9.0 SB-304590
10.0 SB-3007

SB-3001-CD -

¥ M2.6 X 045 HBUERTRETY .

8.0 SB-4003
11.0 SB-4004
M5x0.8 6.5 6.8 35 SB-506535
55 SB-506555
6.8 SB-5004
8.0 SB-5002
11.0  SB-5001
8.0 8.3 50 SB-508050
9.0 SB-5003
M6x1.0 8.0 8.3 6.0 SB-6003
9.0 SB-6002
13.0  SB-6001
M8x1.25 11.0 11.3 13.0  SB-8002
mBEOREICOVT

C3604 (&4 K=V L#)
C6801 (8aL A#1)
FmEE Y

SB-3001-EC -
SB-3001Z-CD  —




